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Write your Roll No., Answer Sheet No., in the specified places
given above and put your signature.

Make all entries in the OMR Answer Sheet as per the given
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After Opening the seal, ensure that the Question booklet
contains total no. of pages as mentioned above and printing of
all the 200 questions is proper. If any discrepancy is found,
inform the invigilator within 15 minutes and get the correct
booklet.

While answering the question from the question Booklet, for
each question choose the correct/most appropriate option out of
four options given, as answer and darken the circle provided
against that option in the OMR Answer sheet, bearing the same
serial number of the question. Darken the circle only with
Black or Blue ball point pen.

Darken the circle of correct answer properly otherwise answers
will not be evaluated. The candidate will be fully responsible
for it.

There are 200 objective type questions in this question booklet.
01 mark is allotted for each correct answer.

No negative marking will be done.

Do not write anything anywhere in the Question booklet and
the Answer-Sheet except making entries in the specified places
otherwise OMR sheet will not be evaluated.

After completion of the examination, only OMR Answer Sheet
is to be handed over to the invigilator. Carbon copy of the
Answer-Sheet and Question Booklet may be taken away by the
examinee.

This question booklet contains three parts :-

Part Particular No. of Marks
Questions

AG-I1 Physics, Chemistry, 80 80
Mathematics and Biology

AG-II Crop Production and 60 60
Horticulture

AG-I1l1 | Elements of Animal 60 60
Husbandry and Poultry
Farming

Each question contains 01 marks. All question are compulsory.
In case of any ambiguity in Hindi version / English version the
English version shall be considered authentic.
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PART - AG-I

Physics, Chemistry,
Mathematics and Biology

In the given circuit the current |,
(magnitude only) is-

300
Wy
I A
400 40V
—
Iy
I
1 AMMW—
40Q ki)
A. 4A B. .7A
C. 8A D. None of these

According to Ohms law------ .

A. the current increases with the
increase in voltage

B. the resistance increases with
increase in current

C. the resistance increases with
increase in voltage

D. the resistance and current both
increases with increase in voltage

The magnifying power of a compound
microscope is 20 and the distance
between its two lenses is 30 cm when
the final image is at the near point of the
eye. If the focal length of the eyepiece is
6.25 cm the focal length of the objective
lens is-

A.

B
C.
D

2.5cm

. 35cm

45cm

. 5.0cm

Wiferer, T T,
TTfuTe uet Shta e
few e aftaer & ey |, (et afETn) g
oo
Iz 1 YYYYYY
40Q 40V
—]
Iy
I3 y
40Q 30V
A. 4A B. .7A
C. 8A D. 398 9 IS &
Y o e & ST |

A. FIed TG % | g et &
B. oI H gftg o A1 fckrer srgat &
C. dlees | gfeg & arer ufeliy sgar &

D. sredw i gtz ¥ wmer s si e
2 i afea Bt 2

ok TR et ht Trarei &t 20
3R 39 31 < o ot 1 gl 30 Tt 3
sifom f a1 % Frepe foig wo et 31 af
et 1 iR gl 6.25 Tt & T sfirgyae
(HATeSiTore &ier) oht whierd gt Bl

A 259

359

4.59H.

5.09H.

© O W
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Three charges 2q, —q and —q lie at the
vertices of a triangle. The value of E and
V at the centroid of the triangle will be-

A. E#0and V=0
B. E=0andV=0
C. E#0andV=0
D. E=0and V=0

Centrifugal pump is a ------ :
A. Turbomachinery

B. Flow regulation device
C. Drafting device
D

. Intercooling device

The volume of a sealed packet is 1 liter
and its mass is 800 gm. The packet is
first put inside the water with a density

of 1g cm ™ and then in another liquid B

with a density of 1.59 cm™. Then

which one of the following statement is
true?

A. The packet will float in both water
and liquid B

B. The packet will sink in both water
and liquid B

C. The packet will sink in water but
will float in liquid B

D. The packet will float in water and
sink in liquid B

oI SATeIT 20, —q TR —q TF gt o e
R f&ort 2| Bt o s W E SRV
AT BT

E#0 3 V=0
E=03MV=0

o o w >

Teh Hictsie Yohe ohl 3T 1 et & 3T
SEHT SEIHH 800 TTH 2| Uohe i T8t | T1H
Tt S 3 B o T o Siat 3R R g
oA B | 1.5 719 T3 3 ©cd o 9T STeAT
ST 21 fefaRad ® € i | e e
37

A. U UMt 3R a B 391 H daT
B. Tehe Ut R T B EHI1 H & ST

C. Uepe Tt # g ST ek A B H
sl

D. ke UTt H i TATT ST -t B # g
Se
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7. A heater coil is cut into two equal parts 7. U B DTS Dl &l S T H HIT ST

and only one part is now used in the 2. 31 31 T Ush W ShT ST ST i
heater. The heat generated will now be-

A. One fourth

A EIRIE
B. Halved i
C. Doubled B. el
D. Four times C. g

D. =R

8. If the mass of the earth and radius 8. s qedlt 1 s 1R B s=m®
suddenly become 2 times and 1/4™" of ST W T 2 THT 3T 1/4 81 ST, |
the present value, the length of the day )

I eSS
becomes-
A. 24hr. A. 24%
B. 6hr. B. 6H2
C. 3/2hr. C. 3o
D. 3hr.
D. 3%

9. Aforce of 7 kgwt is sufficient to pull a 9. afg U | Taqg W 10 kgwt o sciieh i
block of 10 kgwt over a flat surface. e 3 1T 7 kewt %1 o1t qarte 21 ooy
What is the angle of friction?

: =T 10T T ETT?
A. 34.99°
A. 34.99°
B. 26.34°
B. 26.34°
C. 39.24°
C. 39.24°
D. 45°
D. 45°

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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10.

11.

12.

A wooden block of mass 100 Kg is kept 10.

on a horizontal platform. A force of
60 N is required to just slide the block.
But a force of 49N is just sufficient to
keep the block moving with uniform
velocity. What is the coefficient of
kinetic friction?

A. 05
B. 0.25
C. 0.05
D. 0.005

Two identical thin bar magnets each of 11.

length ‘1’ and pole strength ‘m” are
placed at right angle to each other with
north pole of one touching south pole of
the other. Magnetic moment of the
system is-

A. mi

B. 2ml

C. \/Eml

D. ml/2

In the space above the mercury column 12.

in a barometer tube, the gauge pressure
of the vapour is-

A. Positive, but more than one
atmosphere

B. Negative
C. Zero

D. Positive, but less than one
atmosphere

U IS 3T Rl S8Rt S 100 foraT
2, T & H T T 8| ScATeh bl shalel
Rerereri o T 60 N o et i SATerearehal
Bt 21 AT 49 N 1 a1t sciteh ohl UeHeHT
T Y T T o foq w2ty &) s sfor
TTUTieh 3T T T 22

0.5

0.25

0.05

0.005

31 U aet ST FTeh, SRl &g <10
3R & 1Tk ‘m’ 2, i T TEL 3 AHHIT
R T ST &, ST Tk o1 3o g qaL o
aferoft gar ot TRt T 8| e

ml

o w>»

2 ml

J2 ml

ml/2

o o w>»

T ST T H T it o S0 hl
STTE H, ST T 7S] ST —--mvmv BT 2

A. FHRICHS, A TF TIHSA I a9
(1 atm)ﬁaﬁﬁﬁ

B. ThiIcH%h

C. 3@

(=N

D. HHRIcH, Wfohd Teh ATgHSHIT aTel
(1 atm) & &Y

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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13. A simple machine- 13.
A.
B.

C.

D.

14.  The eye defect, astigmatism can be 14.

Magnifies the momentum only

Enables us to do more work by less
efforts

Changes the direction of the force in
all circumstances

None of the above

corrected by using-

A

15. Consider the following statements: 15.

1.

2.

Convex lens

B. Concave lens
C.
D. It can never be corrected by a lens

Cylindrical lens

Steam at 100°C and boiling water at
100°C contain same amount of heat.
Latent heat of fusion of ice is equal
to the latent heat of vaporization of
water.

In an air-conditioner, heat is
extracted from the room-air at the
evaporator coils and is rejected out
at the condenser coils.

Which of these statements is/are
correct?

A
B.
C.
D.

land 2
2and 3
Only 3
Only 2

Teh 9Lt |
A. GATHIE TQETR

B. hH UEd | SITET ki - § g9
RIS

C. gt uftiRufaat & oo i foxm sea <ar
g

D. T @S oft 7t

C. SoHERR o™

D. <i¥ gry &t ot e A= forarm ST dehan
g

freferfad smemt w fomm =Rt
1. 100°C 9T 919 37 100°C W 3IaAd IHT
T GH HET H ST a2

2. Sth o TTeH shl TTH SHT STt o6 SToHTehtor
T TTH ST % ST el 2

3. Ueh WIS |, Al hl gar &
SRt shigel W T frehTedt STt §
IR SheTHL Hige § oTe fHehter 2F STt
2l

SURIE AT | § i 9T U el 2/2?

A. 132
B. 233
C. ad 3
D. %ad 2
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16. The velocity Ratio of a machine is more 16.  Sfer fopwlt i o1 7T AT 1 | AR
than 1. It- BT R, 79 Te-

A. Acts as a force multiplier A T SR S S

. Gives loss of speed

B
B. wfashrafyadiz
C. A and B bhoth
, C. A B
D. Either Aand B
D. IMATATB

17. A transparent solid cylindrical rod has a 17. U UNEl 3 JTHIHR B T SIad1h

refractive index of 2/+/3 . It is 2/ /3 2 7e gar & o gom 81 S 6
surrounded by air. A light ray is incident 5 Framar S @@%@Q@T%mﬁam

at the mid-point of one end of the rod as
shown in the figure. The incident angle T ST foRT0T AT Eieft 31 SATeIe Hior

0 for which the light ray grazes along 0 fore o g sht e & | wehTe foheor
the wall of the rod is- foreret 2, ----- =Bm
3]
~ b
A.
sin‘l[ﬁ) A B
2 Sin 7
B. 2
-l & B. 2
Sin . 1
B e
C. 1
-1 4 C. 1
sin .1
B o
D.
sin‘l(lj D. . 1)
2 SIn E

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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18.

19.

20.

A spherical capacitor has an inner 18.

sphere of radius 12 cm and an outer
sphere of radius 13 cm. The outer sphere
is earthed, and the inner sphere is given
a charge of 2.5uC . The space between
the concentric spheres is filled with a
liquid of dielectric constant 32.
Determine the potential of the inner
sphere-

A. 400V

B. 450V

C. 500V

D. 300V

Which of the following statement is not 19.

correct?

A. Conduction can occur easily in
solids, less easily in liquids but
hardly at all in gases

B. Heat energy is carried by moving
particles in a convection current

C. Heat energy is carried by
electromagnetic waves in radiation

D. The temperature at which a solid
change into a liquid is called the
boiling point

Two short bar magnets of magnetic 20.

moments 0.125Am? and 0.512 Am?

are placed with their like poles facing
each other. If the distance between the
centres of the magnet is 0.26 m The
distance of neutral point from the
weaker magnet is-

A. 0.13m
B. 0.2m
C. 0.26m
D. 0.1m

T A Gy (Shufeer) o SAiafes et
i foram 12 . iR et et <t e
13 F.Y. 31 SR el Ry of-wafeha o
ST &, 3 sfiqt Mt bl 2.5uC o1 AaT
o ST 21 Hehfsa el o 7e § 32
ORISR T 59 ¥ 8| 3N et &1
forerar 3mar =hi-

400V

450V

500V

300V

frferfaa & & 0 |1 e 3TEc 89

A. ST 31§ ST A, 59 § A
AT & e e § gRFa A A
qFATE

B. Taed 9wy ¥ TG ST ERT ST it
T e TohaT SITaT 8

C. fafertor # fora <rershia aiet g S
STl ohl e ferarm ST

D. € q9HH S8 WIS 3 59 § seetdm
2, FAYATR FHEATdT 8

3N B TR e ForTahT Frarehier et

0.125Am? @em 0.512 Am? &, uh g&
S | 3T T gaT o |1 W T 3§ A
T o hal o st sh1 giT 0.26 m 2| TSI
o1k o ey foig 1 gt 2rft-

0.13

0.2t

0.26 |t

0.1 9t

OO w>»

0o w >

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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21.

22.

23.

24.

Which of the following aliphatic 21.

carboxylic acid is a solid at room
temperature?

A. Heptanoic acid
B. Octanoic acid
C. Nonanoic acid
D

. Decanoic acid

“Gold number” is used for measurement 22.

of which property among the following?
A. Emulsifying strength

B. Protective power

C. Coagulation power

D. Peptization power

Fertilizer which supply only one major 23.

plant nutrient is-
A. Straight fertilizer

. Complex fertilizer

B

C. Complete fertilizer

D. Double fertilizer

In an element the number of unpaired 24.
electron in 3p is maximum. Its atomic

number will be-

A. 23

B. 33

C. 15

D. 26

frefoiaa & @ s a1 ferthien
TSN TR 3TFeT SHHY o JTIHT 9L 319 22

A. TRHISH A

B. 3igeHIgsh 3TFt

C. THHIEH 37

D. fewhHIgs st

T} GeAT” e | forereh A9 7 T
grar 82

SHHTHTOT &7

&0 e

Thea &

e eRtor g

I ST helel Ueh THE UTel Tk ded ht
AT T 7, T 2-

A. e @re
B. Sifica@re
C. piar

o o w »

D. oA @R

e el ToTe SRYfH 3p SoragHl ohl He
A 23

B. 33

C. 15

D. 26

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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25.  With increase in temperature, which of 25.  qroH™ W geg o |ref, 3 § i 91 IiEdd
these changes? BT

A. Molality A

B. Fraction of solute present in water
B. o H HIS[g foreta #ht 3i
C. Weight fraction of solute

. C. focia a1 v 3w
D. Mole fraction

D. Hie 3
26.  Acid present in both coconut oil and 26.  uftre ATNAS o o I WG ST H HISE
butter is- ST
A. Lauric acid
A. i ufge
B. Stearic acid
B. dafdeh 37
C. Oleic acid
. o C. dS&dd
D. Linolenic acid
D. femeifaes steat
27.  Stearic acid is present in- 27. i et Uity 2l &-
A. Cotton-seed oil A Ferem geT
B. Soya-been
Y B. daE
C. Butter
C. HFaq
D. Linseed
D. AAH! &I sl

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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28.

29.

30.

Match list-1 with list-2 and select the
correct answer using the code given
below-

List-1
(Fertilizer)
Urea
Diammonium Phosphate
Ammonium Sulfate
Ammonium Chloride

List-2
(Amount of Nitrogen)
24%
20%
18%
46%

A-4,B-3,C-2,D-1
A-4,B-3,C-1,D-2
A-1, B-2, C-4, D-3
A-1,B-3,C-2,D-4

o0 ®m>

OO0 m> AR

Organic compounds can be classified
even based upon the function groups.
Which of the following is not a
functional group?

A. Isocyano
B. Carbonyl
C. Isocyanide
D. Carboxyl

Carotenes are found in-
A. Milk

B. Carrot
C. Meat
D. Lemon

28.

29.

30.

Fei-1 1 F=i1-2 | gHfeAd hiferg iR e
o 77T 3 T TR 1 HET I -
feree-1
(Te)
A. gl
. STESTHIFR BEhe

A. A-4,B-3,C-2,D-1
B. A-4,B-3,C-1,D-2
C. A-1,B-2,C-4,D-3
D. A-1,B-3,C-2,D-4
el f-1eh AT i e TR o6 TR T ot
aeffepet ToRaT ST HehaT 8| FFfeTRad 5 & &4
a1 foraTeash @ e 87

A. JTEEETET

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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31.  Which one of them is the weakest? 31, U @ gad FHHSIL i 22
A. lonic Bond A. ST sy
B. Covalent Bond B. Rk
C. drgsy
C. Metallic Bond
D. dusded oot
D. Van-der Waals force
32. Which among following does not 32, fymferfad & o o st Tmedar
exhibit geometric isomerism? af3td 981 tar 82
A. 1-hexene A. 12fFT
B. 2-hexene B. 2-2fawd
C. 3-gfm
C. 3-hexene
D. 4-3frm
D. 4-hexene
33.  Which of the following bond is made up 33. fyfcfaa & @ o o1 se s e d
of a large number of organic HTsi ok ANTTehT T SHT 22
" .
compounds? N
A. Metallic Bond B. feyasy
B. Dipolar Bond C. e sy
C. lonic Bond D. HeEaISH st
D. Covalent Bond
34.  Organic matter content of Indian soil is 34, urdi fugh it it veTd At 3 X
generally- T Bl B-
A. 05-1.0% A. 05-1.0%
B. <0.5% B. <0.5%
LU C. 1.0-15%
C. 1.0-15% D. 1.5-2.0%
D. 1.5-2.0%
SPACE FOR ROUGH WORK / T% & & fo13 siire
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35.

36.

37.

38.

Which of these is not a Product of
Fermentation?

A. Lactate
B. Oxygen
C. Carbon dioxide
D. Ethanol

Reason for three unpaired electrons in
Nitrogen-

A. Pauli’s exclusion principle
B. Aufbau principle

C. Uncertainty principle

D

. Hund’s rule

The range of size of Colloidal particle
Is-

A 107" -10%cm
B. 10°-10"cm
C. 10°-10"cm
D. 102 -1073cm

The density of a solution prepared by
dissolving 120 gm of urea (mol. mass =
60u) in 1000 gm of water is 1.15g/mL.
The molarity of this solution is-

A 1.02M
B. 205M
C. 0.50M
D. 1.78 M

35.

36.

37.

38.

SO T I foRva ot IeuTg Tl 82
A, TRZ

B. ifadisH

C. A STEATHEE

D. g

ATSZISH TATY] H o1 SR Forae
T HTT B-

A. Tl SIS AR

B. 3AT%aTe FHaw

C. Afferaar =t frem

D. U8 & HaH

HICTSE! VIl o TR shT TUH Bl 2-
A. 1077 —107° &t
B. 109107 &t
C. 10°-1077 &nft
D. 102 -107% &#t

120 T R (mol. mass = 60 u) T 1000
T T H EeToRt R TR T BTeT st
g 1.15g/mL 81 59 ©ieT shl Ao &-

A. 1.02M
B. 2.05M
C. 0.50M
D. 1.78 M

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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39. What is the Index for the Gold Number? 39.
A.

Protective Power of Lyophilic
Colloid

Purity of Gold

C. Metallic Gold

D.

40. Bond length of (1) ethane (l1) ethene 40.

Electroplated Gold

(111) acetylene and (1V) benzene follows
the order-

A
B.
C.
D.

41. Ifa, b, c are in A.P. then which of the 41.

I>1>1H>1V
I>11>1Vv >l
I>1V>11> 111
H>1v>I1>lI

following is true?

A
B
C.
D

42.  Write the logarithmic form of 42.

2a=b+c
2c=a+b
3b=2a+3c

2b=a+c

9215 = 4,

A

1
|0992 4 = g

Iog]_/5 4 = 92
logg, 5=4
log,5=92

et T o foTe gerentes o 82

A, ATt HicTsS i GuaTTensh T1ih
B. @M sl Yreadr

C. ftfcssh €T

D. RIS AT

(I) 39 (1) weft (1) Tfrfeefi 3iie

(IV) SISTI= oY s7¢T TS ShH T ITei SRt
2-

A 1> N> IV

B. I>1I>1V>l

C. I>1v>Il>1

D. HI>IV>I1l>]

A< a, b, c FHIR AV A E aa A T @ =0
T 22

A. 2a=Db+c

B. 2c=a+b

C. 3b=2a+3c
D

2b=a+cC

9215 = 4 =t wreporshi &9 # ferfla

A 1
logg, 4 = 5
B. logy54=92
C. logg,5=4
D. log,5=92
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43. 43,
If log, m=x then logy, 1 afg log, m=x @ logy,, % =
m
A. X A. X
B. —x B. —x
cC. 1 c. 1
X X
D. -1 D. -1
X X
44.  Which of the following is correct about 44. 3uft 24, 38, 55, 69, 89 & feR A O
the series 24, 38, 55, 69, 89? a7 AT G 29
A. median = mode A R _
B. mean = mode
. B. HE =dgeleh
C. mean = median °
D. None of these C. | = Hrfeah
D. 30 ¥ s T&
45. If the sum of n terms of an A.P. series is 45. I ush FHiaT Aoft & n YST T AT
1
nP+§n(n—1)Q , Where P and Q are np+%n(n —1)Q &, STl P a1 Q 3TN
constants, then the common difference & qo 93T AT
is-
A. P AP
B. Q B. Q
C. P+Q C. P+Q
D. P_0 D. P-Q
46.  Which of the following is not correct? 46. e o @ I 9T e Tl T 22
A. sin(x) =-sin(—x) A. sin(x) =-sin(—x)
B. sec(—x) =sec(x) B. sec(—x) =sec(X)
C. sin(rn+x) =sinx C. sin(n+x)=sinx
D. cos(n—X)=—cos(n) D. cos(m—X)=-—cos(m)
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A7. 1f sin3A = cos (A — 26°), where 3A is 47. =fg sin3A = cos (A — 26°), ST&f 3A Th

an acute angle, find the value of A. I HIVT &, T A T 7 J1d Al
A. 20° A 200
B. 30° B 300
C. 29 C. 29°
D. 19° D. 190
48. |f the sides of a right angled triangle are 48.  Ffs T GO B ol S[SITd wHiey 2ot
in A.P. then they will be equal to- & T y[SITd Bhl-
A 2,45 A 2.4.5
B. 3,4,5 B. 3.4.5
¢. 123 C. 1,2,3
D. 2,3,5 D. 2.3.5
49.  Find the variance of the given data- 49.  fed 7 Srishel © foreror T s —
7,47,8,42,47,95,42, 96, 3 7,47, 8,42, 47,95, 42, 96, 3
A. 1228.78 A. 1228.78
B. 1018.78 B. 1018.78
C. 1029.78 C. 1029.78
D. 1039.78 D. 1039.78
50. What is the value of (tanze—sec2 0) ? 50. (tanze—sec2 0) UM &-
A. 2 A 2
B. -1 B. -1
C. 1 C. 1
D. 0 D. 0
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51. What is value of 2sin 75°c0s 75°? 51, 2sin75°Cc0s 75° ST HIF ENTI-

A 1 A 1
2 2
B. 1 B. 1
N7 72
c c 5
2 2
D. 2 D. 2
V3 3
52. The heights (in cm) of 9 students of a 52. ush et o 9 formfeRat it S=s (ot W) 3w
class are as follows: T 2-
155 160 145 149 150 147 152 144 155 160 145 149 150 147 152 144
148
Then th dian i 148
en the median Is- TR 5
A. 145
A. 145
B. 147
B. 147
C. 150
C. 150
D. 149
D. 149
53. i 53. i
g COSX _sinx . cosx _sinx
a b a b
|acos2x +bsin 2x| is equal to- asl [acos 2x +bsin 2x| =
A. a3b A. a3b
B. i B. a2
b b
C. b C. b
a a
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54.

55.

56.

S7.

If the mean and mode of some data are 4
and 10 respectively, then its median will
be-

A 15
B. 5
C. 25
D. 6

In a G.P. series, the 3" term is 24 and
the 61 term is 192, then the 10" term is-

A. 3072
B. 1920
C. 2430
D. 3270

The standard deviation of certain data is
4. Then their variance is:

Al
B. 16
. 8

C
D. /2

Find the value of
€0s20°xcos40°xcos80°

A 1

4
1
8
1
16
1

12

55.

56.

S7.

AT > ST T HTEY SN TG HATT: 4
qAT 10 2, T SHhT AT B

A. 15

B. 5

C. 25

D. 6

T TR 207t 7 e 98 24 8, T Seat
g 192 B, a1 10 & 9 BII-

A. 3072

B. 1920

C. 2430

D. 3270

AFS FS SATRS! 1 A forwie 4 8, T

ST T -

Al
B. 16
C. 8

D. 2

c0s 20°xcos40°xcos80°

T H J1d shifsTu)

A

1
4
1
8
1
6

[

D. 1
12
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58. |f SinA+cosA=+2 cos(90°—A) then 58. af¥ sin A+cosA =/2 cos(90°-A)

cot A is equal to- a9 cotA =
A 12 A 1_2
B. J2+1 B. {2+1
C. 21 C. 21
D. 2-2 D. 2-{2
9. 1 1 1 S| 1 1
X X is equal to- X X =
log, b log,c log.a log, b log,c log.a
A. a+b+c A. a+b+c
B. abc B. abc
C. 0 C. 0
D. 1 D. 1
" log\8 is equal to- » IOg\/gW%—
log log8
A 1 A 1
6 6
B. 1 B. 1
4 4
C. 1 C. 1
2 2
D. 1 D. 1
8 8
61. The inflorescence of family Gramineae 61. Ifif et § ToUsHA BT 8-
is----
A. Verticillaster A Fe
B. Hypanthodium B. Sge
C. Capitulum C. g7
D. Spike of Spikelets D. TTSaRieH hi hict
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62.  Which tissue provides flexibility to
plants?

A. Xylem

B. Phloem

C. Sclerenchyma
D

. Collenchyma

63.  Which of the following species are
commonly cultivated species of lac
culture in India?

A. Kerria lacca

w

Laccifer lacca

O

Rana tigrina

©

Cocos nucifera

64.  Which is the youngest Silkworm?
A. Pupa
B. Adult
C. Spinning worms
D. Chawki

65. Pollen grains of flowers pollinated by

insects or wind are not-----

A. Large and showy

@

Rough and Sticky

O

Smooth and dry

o

Rough and dry

el 7 SefieATa ok 37k o ShTVT BIaT 27
A. STEH

B. wAlH

C. TRITRIEAT

D. hIcshIgHT

frefeafad § 9 & o yeifa wig 9§ arg
3cTe shi 3TTH A TR IcaTied shi ST et
EE LR

A. T TR
B. IR TR
C. Tarfefimm
D. @ed EHT

T 3 T T IS I AT -2
A. SiEl

B. au&h

C. WM Iadl g3 seal!

D. eh!

T 36 TRTERUIT ST SRATOT ShiE AT SR ST
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66. Pentamerous flower, superior ovary 66. deraRit I, ol B Sl Ieh SHeaadi

with the swollen axile placenta and SN TS TAA GohE A& 2---
epipetalous androecium is ”
characteristics of------ A. UfteT
A. Gramineae B. gt
B. Solanaceae C oo
C. Cucurbitaceae
D. HArctaE!
D. Malvaceae
67.  The five-kingdom classification of 67. Sfiat st o= AT § ------- ERIIEEE e
living organism was given by ------- TR
scientist.
A. Eicher A ;
B. Whittaker B. siea
C. Linnaeus c. fafa
D. Theophrastus D. Reheg
68. <Pebrine’ is the -------- disease of 68. ‘aﬁq’ajqﬁjﬁ ——————— fomm 22
i”
B. Mori? AR T &
A. Viral
) B. SANNHT
B. Bacterial >
C. Fungal C. FEFSI
D. Protozoan D. JSHETOT (SIS STid
69. Cells of fibers and tracheid’s elongate 69. dqatl iR aniReRTel i IR oo £
during----- T el B STt 7l
A. Phase of cell division A BRER 3

B. Phase of cell elongation

B. =hifXTehT ST o S
C. HIf3TehT IRTeFIdT o S
D. ahIf3tent fafsmsiemor o g

C. Phase of cell maturation

D. Phase of cell differentiation
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70. When anthers and stigma grow and 70. % ddi H, TUATeRUT TS SIfdeRn U T
mature at the same time, this qRTee 21 & I8 IGRAT ——--- T 2

phenomenon is called-

A. Syngamy fusion A
B. Fusion B. HoTdd
C. Allogamy C. ==
D. Homogamy D. T9gT
71.  In male cockroaches, sperms are stored 71, T fqetarg | IERI0], S o o fohE wRT H
in which part of the reproductive g e
system-----
. . A. IThIE gfeT
A. Seminal vesicles v
B. Mushroom glands B. mrre ifort
C. Testes C. guur
D. Vas deferens D @%aﬁ%aﬁr
72. All triploblastic animals primarily 72, gt Breadr Siq H & 9 € IR S 8-
0S5€esS---
P A, T TR
A. True coelom ' .
B. Unisexuality and sexual dimorphism B. ¢ Qa
C. Regeneration power C. gq;'si;';'mﬁﬁ
D. Bilateral symmetry D. fgueft amfufa
/3. The term ‘Glycolysis’ has originated 73, TATgRIT’ ITeq 3 It foRd Ifieh w18
from the Greek words------ A
A. Glucose and Lysis A S

B. Glyco and Lysis
B

C. Glycose and Lysis

D. Glykos and Lysis C. TATERIS TH AT
D

. TATSh Y Ud ATSieE
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74. Family Cruciferae is characterized by- 74, 3 TR T TR0 -
A. Marginal placentation A, g Ssve
B. Parietal placentation B, wife s
C. Basal placentation
5 C. G siuE=Td
D. TTse (e sfisug=md

. Axile placentation

75.  Male bees in a bee hive are called----- 75, Ayweelt o B H T AYHARE FHEATA -
A. King -
B. Worker A. T
C. Drone B. sftr
D. Queen c.
D. Tt
76.  Which category of termites belongs to 76.  dient Y i Yt Aoft ster ST Y 22
sterile caste? A sl
A. Workers
B. Soldiers B. afi
C. BothAand B C. THTATIB
D. None of the above D. 39U H ¥ HIE
7. In --—---- vegetative propagation occurs 77, fe=t g areafie Seate ------- 9TIT STt
by leaves. =
A. Polypodium A GefER
B. Bryophyllum
C. Chrysanthemum B. TR g
D. Grasses family C. Wmﬁm)

D. =¥ Tl (TTHH)
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/8. Polytene chromosomes are formed due 78.

t0----

A.
B. Mitosis

C.

D. Endomitosis

79.  Layering can be done on plants such as- 79.

A.

80. The exudation of xylem sap drops from 80.

B
C.
D

Endomixis

Meiosis

Bulbs

. Lime

Sugarcane

. Oleander

hydathode on the edges of leaves is
called---

A

Transpiration

B. Guttation
C.
D. None of the above

Condensation

A. 3iq:firgor (woeitufee)
B.

C. refer (firnfam)

D.

TS ST (ATAT) 3 el § T ST HehaT ©
3o

A. Haed (Jcd)
B. i
C. 7=t

D. &R (AfeAie)
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PART - AG-II

Crop Production and

Horticulture

81. The onion is botanically following type

of structure-
A. Bulb
B. Corm
C. Tuber
D. Rhizome

82.  The objective of tillage is-
A. Seed bed preparation
B. Weed control
C. Soil and water conservation
D. All of these

83.  Which of these soils has highly
porosity?

A. Sandy Soil
B. Sandy Loam
C. Loamy Land
D. Clay Loam

84.  Which is a Kharif season weed?
A. Eleusine
B. Echinochloa
C. Celosia
D. All of the above

81.

82.

83.

84.

T IeUTE US SETTHehT

WITST AT feh ®9 © fifend Jenr s
AT B

B. =eha
C. &g

D. Jehe

fooreT =1 3899 2-

A. st ot QIR e

B. @A 0T

C. HaT U SfeT HReor

D. SWIth a+t

370 o forer Tt o srcaferss fog amar 2
A. e fgt

B. el dme

C. 3me gt

D. & dM

G Hiem s GO i i 82
A. STt Tt

B. ®iar

C. faemd

D. 39Rh G+t
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85. The following is a vegetative 85. frifora & & ek 31y ot aeafass Jarea

propagation method of mango- $rfafre
A. Budding A Fh
B. Air layering
) B. Tt
C. Grafting B
D. Cutting C. IR
D. hdd
86. Seed rate of Soybean for 1 hectare is---- 86. U gFI F forw wiTsi S sfis T B-----
A. 80-100kg A. 80— 100 f&am.
B. 150-200kg B. 150 — 200 frm.
C. 250 -300 kg
C. 250 - 300 ..
D. 300 -350kg
D. 300 - 350 fer.am.
87. Farmers can get short term loan from- 87. TorumI i fore® o1 STafer T A fre
A. Money lenders ehell 27
B. Land development bank A. GEFR
C. Government B. ‘ﬁ\ﬁrﬁmaa?
D. All of these
C. &R
D. 39k @+t
88.  Unit of measurement of discharge — 88. SIcT SISl hl ATIH STl $ohTS “FIHF"” SR
“Cumec” is equal to- 2
A. liters/second P
B. 3
ft° / second B, f’ i
C. m?3 / second .
C. Ffoeh Hieyashe
D. None of the above . !
D. 39Uk H ¥ hIS It
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89. First Director General of ICAR- 89. 31 ©i U AW % YU HETHITIh-

A. M. S. Swaminathan A. U, TE. ST
B. B.P.Pal B. & o arer
C. Md. Abibullah
C. WIEHE STeeeal
D. M. S. Paroda
D. TH. TH. W&t
90. The soil with poorest water holding 90. Te T STeT GROT AT et gt i
capacity is- 29
A. Clay AT
B. Loam
B. @™
C. Sandy
D. None of these C. &
D. 3WIh § & IS &l
91. The best time for pruning of Ber is- 91. T FI FIE-IITE T HATHH T -
A. October A, 3FE
B. December B f
C. February
C. ®&l
D. May
D. ms
92. The cauliflower is modification of- 92.  cperrft fAFiTeRd ST TR0 8-
A. Stem A T
B. Leaf B et
C. Flower
C. T@
D. Root
D. Sig
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93.  The cooperative movement was started
first in-

A.

94.  The following type of planting system is

England

. Germany

B
C.
D

USA

. India

used in hilly regions-

A

Hexagonal

. Quincunx

B
C.
D

Contour

. Rectangular

95.  Length of Gunter’s chain is-

A

33 feet

B. 30 meter
C.
D

. None of the above

66 feet

96. CRI (Crown Root Initiation) stage in

wheat comes at ------- days after sowing.
A.
B.
C.
D.

10 — 15 days
20 — 25 days
30 — 40 days

None of these

93. HERIINET STaTeH Hedl Teet et I foha
T I1?

A. e
B. St
. JUET,

C
D. 9’d

94. grret gt | fifeRa Wbt <l Tr veafa
T SUINT foham TraT -
A. THIU
B. =Sl

C. @ur=d
D. 3™dERR
95.  “Trray’ = ShY TS B-
A. 33%R
B. 30X
C. 66T
D. 3Rt H ¥ &8 &

96. I T H. IR, TS, (I SIS &) =T S
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97.  Leguminosae plants are fixing of------- Y1 e re] a1 > g— T TeerfieRtor shtaT 2

A. Nitrogen A. TS
B. Phosphorus B, >
C. Potash
C. U
D. All of above
D. 3w aeft
98. Glycine max is a scientific name of----- 98. ToITEfE B —oooee- T AT T B
A. Cotton A FAE
B. Soybean B @
C. Groundnut '
C. HThedl
D. Safflower
D. %gA
99. Following is a variety of Guava- 99. foifera atmee i U forem -
A. Lucknow-49 A, qETH-49
B. N -4
agpur-45 B. AFTIL-45
C. Bombai '
C. &g
D. Rajapuri
D. TSt
100. The most common serious disease of 100. 7= =T T= 3T 71T T -
sugarcane is-
A. 1 ggt
A. Red stripe
B. Red rot B. SeTEeT
C. Wilt C. T
D. Smut D. ga
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101. The process of complete killing of
micro-organisms is known as-

A. Pasteurization
B. Sterilization
C. Stratification
D

. Disinfection

102. carrot is generally grown in plains

under following season-
A. Summer

B. Rains

C. Winter

D. Round the year

103. Excess water to be removed from crop

root zone is called-
A. lrrigation

B. Drainage

C. Water flow

D

. None of the above

104. Nipping in chickpea is a process to

A. Enlarge branching

B. Enhance plant height
C. Protects from diseases
D

. Protect from insects

. G&H Sfiall sl quld: SHTH LA hl ToRaT T

% &-

A. ArEEdERT
B. fasieffertor
C. &

D. feresruor

. e ST H TSI SRl W fifend sk

o ST STl B-
A. T

B. aui

C. i@

D. TN

. BEA % SIS & U sg1er gt i et

FHEATAT -
A. o=
B. et Henret

C. S o™
D. IHE H & IS el

B LRIy ge—— o T <t STt 2

A. @ FeH % foag
B. Wil SeImg SigH o forg
C. T & 5= & fog
D. #Iel & s & forg
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105. Urea contains -------- % of Nitrogen. VSN T | — % TS EIaT 8l

A. 51 A. 51
C. 46 C. 46
D. 93 D. 93
106. The following is a summer season 106. fwifere weR IS g T e T -
annual flower-
A. et
A. Gaillardia
B. Calendula B. b
C. Dianthus C. S
D. Dahelia D. s&femr
107. Instrument used for drawing a 107, uep witeft Y o foreft forg ot ok evererd
perpendicular line from any point on a T 2 T S ST I
straight line is called- T
A. Plumb-bob A e
B. Optical-square B. affteshe waa
C. Spirit level C. fufedaa
D. All of the above D. 39 auft
108. Appropriate time for sowing of Spring 108.  sred S T I T T ITIH T &---
Sugarcane is-----
A. wEd - A=
A. February — March
B. June —July B. -
C. August — September C. 37 — fdier
D. October — November D. 3faEsT — A

p}
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109. Phosphorus solubilizing bacteria is
A. Rhizobium
B. P.S.B.
C. Azotobacter
D. Azospirillum
110. Farm profit is affected by-
A. Total income
B. Market and farm prices
C. Input cost
D. All of these

111.
wheat is-------

A. T.dicoccum
B. Triticum aestivum
C. T. spherococcum

D. T.spelta

112. The following fruit is generally

propagated through air layering-
A. Mango

B. Grapes

C. Guava

D. Jackfruit

The scientific name of common bread

110.

111.

112.

B ANl GO O] S—

A. TESifoEm

B. diuasi.

C. TSR

D. TSedTEie

T 2T AT foRer® Tferd BT 82
A FAIEH

B. ST Ud B i shiAal &
C. FR AT H

D. IR vt

AHTT U2 ST 11, 3 A1 AT 8-
A. A SR

B. i uedtem

C. 3. TR

D. & ®e

FrreAtTeRe et ST et |THT=ra: T fafer
ERISIIES

A W

B. 3

C. 3HES

D. ohegd
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113. Out of these crops, which crop is having
maximum water requirement?

A. Cotton
Wheat
Paddy (Rice)

O 0w

Maize

114. Kachnar (Bauhinia) is a following type
of plant-

A. Climber
B. Tree
C. Shrub
D. Herb

115. The following fruit is generally suitable
for jelly preparation-

A. Apple
B. Banana
C. Papaya
D

. Guava

116. The soil pH for rice cultivation is-
A. 55-6.5
B. 85-95
C. 45-55
D. 8.0-85

113. 99 & fore Ut T SIeT STTavshal qed

114.

115.

116.

A
B.
C
D

. gt

. IHRG

T hl @l o fore firgh o1 ff vy g 2-

A
B. 85-95
C.

D. 8.0-85

5.5-6.5

45-5.5
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117. Linseed belongs to family----- IR 11— il ¥ Heiferd 2l

A. Poaceae A. dreE
B. Linaceae B ffi
C. Gramineae
C. ufiFY
D. Asteraceae
D. wegreHt
118. Kufri Khyati is a variety of following- 118. ot Tl fifeRd ol T forer 2-
A. Potato N
B. Tomato
B. ZHIX
C. Brinjal !
C. dm
D. Onion
D. 9~
119. Green manure crop is-------- 119. =0 @ arefl $Hd 8-------
A. Wheat A T
B. Rice B gm
C. Mustard .
C. wdl
D. Sesbania
D. faefran
120. Chrysanthemum generally flowers in 120. @&t & et fifoRa s6q H Raerd &-
following season-
A. aut
A. Rainy
B. Summer B. 3
C. Winter C. *ffa
D. Round the year D. TR

SPACE FOR ROUGH WORK / &% &Td & for&r sre

20362-UAX-PRV-JUNAG-M2 35 49 Set A



121.

122.

123.

124,

125.

NABARD came into existence on

A. 1980
B. 1981
C. 1982
D. 1983

Which is rabi season weed?
A. Argemone

B. Phalaris

C. Chenopodium

D. All of the above

Regional Rural Banks provide loan to-
A. Small and marginal farmers

B. Landless labourers

C. Rural artisans

D. All of these

Citrus fruits belongs to following
family-

A. Moraceae
B. Myrtaceae
C. Rosaceae
D. Rutaceae

First reading taken with Dumpy level on
a point of known elevation is called-

A. Fore sight
B. Back sight
C. Intermediate sight
D. None of the above

121.

122.

123.

124.

125.

TETE SAReea 5 ST o7 AT 12, -

A. 1980
B. 1981
C. 1982
D. 1983

ot HYEH S @A hi € 2?
A. TIETRI
B e

C. g3t
D. 3URh Tt

&A= iTefior Sk foRwreh! oI Je A 27
A. @ T | e

B. e

C. TTHIT SR

D. 3URh Tt

et e fwifere aitam () o Sfaia
3T &-

A. Tt

B. firest

C. UsHt

D. &

Sl e |l H forelt F1a s o forg 0
o 7S werm i et 2-

A. BRI

B. o HTse

C. gaiudig urse

D. 3URk | & IS el
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126. Nitrogen and phosphorus % in DAP is- 126. St § TASH U BIEBRE T IR ------

A. 15-30 &l
B. 18-46 A. 15-30
C. 20-50 B. 18-46
D. 35-45 C. 20-50
D. 35-45
127. The most productive soil of India is- 127. vrq &t ged IcTeeh e -
A. Alluvial soil A. e gt
CB:. Il_ater:esc.)lll B. Sreee firg
. Inverti soi
D. Arid soil C. wdiingl
D. 3fE fagt
128. il content in groundnut is ------%. 128. Tt # At T W Bt & %
A. 20-25% A. 20 — 25%
B. 40-45% B. 40—45%
C. 50-60% C. 50— 60%
D. 35-40% D. 35-40%
129. Grand Naine is cultivar of following 129. 3 3 Frifera et T Uk foRem 2-
fruit crop-
A. BanZna A T
B. Papaya B. T
C. Pomegranate C. X
D. Mango D. ¥
130. The planting distance of papaya is 130. gmT=r: et st o7 gL Bl 8-
generally- A 2x2 i
A. 2x2 Meter
B. 5x5 Meter B. 5x5 7K
C. 8x8 Meter C. 8x8Hi&
D. 10x10 Meter D. 10x10 Hi&X
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131. Which of the following is an Organic
Fertilizer?

A

Urea

B. Farmyard manure
C.
D. Potash

Super phosphate

132. Short term loan is given mainly for-

A.

Purchase of seed, fertilizer and
weedicide

Purchase of agricultural implements

C. Purchase of land and its

development
All of these

133. The word horticulture is derived from
following language-

A

Sanskrit

B. French
C.
D. Greek

Latin

134. saccharum sinense is known as-

A.

Noble cane

B. Indian cane
C.
D

. None of these

Chinese cane

131.

132.

133.

134.

T T 1 Y ek @Te 22

A. g

B. TR @R

C. gWEER

D. e
HqehTTeTeh A qed &9 o fmfafiad &
fore fem St 2-

A. SIST, I9ehT 3T TUqaRATRT hl @i
sl

B. Y 3w i @l 7]
C. o i Erlig 37K 38 forehrar 2

D. ST @t
gieTehcat 318 3 Ieafel TR W1 & 8%

Yo GTgA - & T Y STET ST 2
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135. The main weed commonly found in rice 135. o o Ed H IR ST STt T

field is----- O B
A. Anagallis arvensis
J A. FT A
B. Echinochloa crus-galli 5
C. Amaranthus spinosus B. HErHm
D. Phalaris minor C. et =g
D. g
136. The wind breaks should be planted in 136. afier sht frreAifona famm o amaUredt gatt st
following direction of Orchard- 9T AT STTRT-
A. North-East N qﬁ
B. South-West
B. affurufsm
C. East-West
D. North-South C. qo-afzm
D. IuX-afeqor
137. Farm Budget refers to- 137. & oete @ qrea -
A. A tentative estimation of expenses A. TFTd % G TS IS FHT TH
and returns of a farm
ISR ELIC]

B. A blue print of production and cost

o B. 3cUTed 3T ANTd ol o] T
C. Loan and its interest =

D. All of these C. M Td 3qeH A
D. Witk a+t
138. In water scare & dry areas having high 138. o Tt ATct, Y[k SaTTehT H STET 8T ot 11
wind speed, the appropriate irrigation Wﬁaﬁ%f\aﬁwfﬁaﬁwﬁr%
method is- .
A. Drip irrigation A. 27 e
B. Furrow irrigation B. %3 f=mg
C. Sprinkler irrigation C. Wear fE=mg
D. All of the above D. 39trE @l
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139. The following is not a Cole Crop- 139. fyeiferd & @ weh Mt woet 721 8-

A. Cabbage A. o
B. Turnip B. oo
C. Brussel’s sprout C. SocH TS
D. Kale D. &d
140. For transplanting one hectare area of 140. Uk THIX YT T YUTE o for T8 3T
paddy, how much area is sufficient for L — & IITH 2
nursery raising? A
2

A. 100m2 100 e

B 2
B. 500m2 500 #rex

C 2
C. 1000m2 1000 #ex

D 2
D. 1500m2 1500 ex
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PART - AG-11I

Elements of Animal TYATE o e Tat
Husbandry and Poultry hHerhe Ut
Farming

141. Post mortem should not be conducted in RIS |1 e b ge— T & g HwTTard 8 W)

cattle carcass suspected to have died 1 frede Tt R st =iy
from ------------ .
A. Anthrax A. T
B. Black quarter B. T fmn
C. Haemorrhagic septicaemia C. ThHaTE aedEifiRT
D. Foot and mouth disease D. TXUSHT Td Feqeht AT
142. Cow milk contains about ----------- APAR D SRR ) QR— e ot Bt
percent water. 3
A. 70 A 70
B. 77 B 77
C. 81 c 81
D. 87 D. 87
143, e is the recognized breed of 143, FtaTe Y THTT T
Cattle of Chhattisgarh. T
A. Anjori A sieH
B. Kosli
. B. et
C. Surti
D. None of above C. gt
D. S8 ¥ g &l
144. In poultry production -------------- type 144, rff SeTeT B —emcmemenee T JHR ST )
of breeding i ful. Sret
ing is m.ore usefu A @
A. Cross breeding
B. Line breeding B. i fored
C. BothA&B C. HIATEB
D. None of above D. WY FIE Tl
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145.

146.

147.

148.

Among the following, the milk of -------
-------- breed buffalo has maximum
amount of fat.

A. Surti
B. Nagpuri
C. Jafrabadi

D. Bhadawari

The boiling point of milk is-
A. 98°C

99° C

100° C

100.5°C

O 0 W

In colostrum, protein content is --------
% in cow.

A. 25%
B. 14%
C. 4%
D. 20%

Which of the following organ/s are
present in digestive system of cattle and
buffalo?

A. Rumen
B. Abomasum
C. Reticulum

D. All of above

146.

147.

148.

g e tferen T § e gl B
A. gl

D

B. nTY

N

A. 98°C
B. 99°C
C. 100°C
D. 100.5°C

A. 25%

B. 14%

C. 4%

D. 20%

T Ud 9 o v g § freferRaa
SEPERIDILIDES IR

A. T

B. &

R ciC oL

[N

C
D. FW & gt
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149. Best method of milking indigenous 149. et R g e i Herdl I feffer shr
cattle is- =

A. Knuckling method A TRl
B. Stripping method
e B. Rgfim (e e
C. Full hand milking
D. Machine milking C. @m@é%ﬁ
D. =i gRI geTs
150. The primary purpose of working the 150. Herge ST Y Tarfer o SR HeRe
butter is ----------- during its processing. FRIRIT T AR FeIF o 2l
A ilﬁ]ggfgg:gedtﬁg':;ftte and properly A. TH% I g9 &9 H foafa ol 3t Ji
_ o STt
B. To bring the butter granules together .
into a compact mass B. HRaH o M1 ol Ueh 1Y Ueh hiFde
C. Both Wﬂﬁaﬁ%%ﬂf
D. None C. gmi
D. s+ el
151. Feed requirement in one commercial 151. ue saTaETRIe T shi 31 o i FTET (20
layer during laying phase (20-72 weeks) 72 GHTE) T —emmmmemmee  ER IR TG RCACH
15 abOUL --------- kg. ol SATITIHAT BIdT 2 i
A. 20
A. 20
B. 40
B. 40
C. 60
C. 60
D. 80
D. 80
152. The milk fat percentage of Holstein 152, Eickd ShifSTar et shi Tl oh ger | =
Friesian breed of cow is- 7 afereTd e BT 22
A 25 A. 25
B. 35 B. 35
C. 45 C. 45
D. 55 D. 55
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153.

154.

155.

156.

For artificial insemination minimum ----
--------- number of sperms per dose are
required.

A. 100 million

B. 10 million

C. 50 million

D. 500 million

India ranks ------------- in goat
population in the world.

A. First

B. Second

C. Sixth

D. Third

Pasteurization of milk can be judged by-
A. Phosphatase test

B. Glycerol test

C. Nitrite test
D

. Garber’s test

Which of the following fodder have
maximum protein content?

A. Berseem
B. Napier
C. Hay

D. Maize

153.

154.

155.

156.

CAEL R IE A L R L pU——
SISV / ST T SRl It 21

A. 100 et
B. 10 fiefem
C. 50 fiea
D. 500 fief

WA T & STopiEt bl G@AT | —ocmmemeeee
T W R

freferfad = & @i & = H gfom o1l
a2

A SEH

B. AfteR
C. o™
D

. Hehl
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157. Price of cow milk is determined on its --
--- content.

158.

159.

160.

A

Protein

B. Minerals
C.
D. Fat

Carbohydrates

In India, out of total meat production ---

------- contributes maximum.

Buffalo
Sheep
Goat
Poultry

Pea type comb is commonly present in -

----- breed of chicken.

Aseel
Kadaknath
Leghorn

Australorp

The pH of good quality silage should be

3.8-4.2
45-55
8-9
6-8

157.

158.

159.

160.

T 2 81 2! hTHd SHehT - CARSIEIRS]
ferifea Bt Rl

A, TEH
B. @fsl
C. FEIEREE

D. a&r

VR ¥ et Hohel HTE TG H —-mmmmeev

AT T 3TFreh 2
A. &9
B. W
C. sl

D. diedt

SO E I G K TG R e e [R— T

§ ST 918 ST 2
A. sEa

B. gAY
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161. Turning of eggs during egg incubation is 161. 3iei % SSHTIA o SR ST bl THMT -

essential in ---------- T ITTEE R
A. Egg hatcher A sfer i
B. Egg setter '
B. JfEIaHX
C. Both
D. None C. aw
D. 15 off e
162. The pathogenic organisms of milk can 162. ger # Trerstereh STOLAT i @ T fohart SiT
be destroyed by- HohdT 27
A. Pasteurization A. g 3
B. Homogenization
. B. BHNSHTIZSIRH
C. Clarification
D. None of the above C. AT
D. 0 U IS I
163. In cattle ------- type of housing is more 163. TR T —---- TSR yomedt SaTeT J=ferd 2
common.
A TSTTE
A. Head to head
B. Tail to tail B. é?fa;éa
C. Open paddock C. 3 ders
D. All of above D. W&ot

164. Removal of suspended foreign particles 164. 29 o GEISE B HUT bl HIZHIIH Tgid

in milk by centrifugation is termed as- = R LS |2 1 E-00) e S FEd 2
A. Clarification A FARERRTT
B. Filtration
) B. fheeeM
C. Decantation
D. Sublimation C. Emer
D. YscimyH
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165.

166.

167.

168.

169.

Which is a viral disease of cattle?
A. Anthrax

B. Black quarter

C. Haemorrhagic septicemia

D. Foot and mouth disease

In calf production, for better growth ----
------- % of milk of body weight is
required.

A. 25%
B. 15%
C. 5%
D. 10%

Colostrum is rich in-
A. Minerals
B. Fructose
C. Immunoglobulin
D. None of the above

Primary vaccination of Ranikhet disease
is done at the age of ----------- week in
chicken.

A 1l

B. 2

C. 3

D. 4

Cornish is ----------- type of chicken
breed.

A. Meat

B. Egg

C. Dual

D. Ornamental

165.

166.

167.

168.

169.

Tt SfRfier aRpett o ooy e T 2-
A. tgag

B. U fmm

C. THaTd adiefirr

D. TUdhT T Heweht T

C. SRS

D. & & &h1S Tl

TSI T ShT ATk SYohTahtoT AT & -
----- HHTE sh1 31 | foparm STTa 2

1
2
3
4
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170. The foremilk of cow is ----------- in fat 170. TIrr o 197 (YTEATCT) 4 H ST h HET ------

content. .
A. Very low A. SgAFH
B. Low
. B. U
C. High
D. Very high C. sm
D. wgd STl
171. Which feed ingredient is commonly 171. ohe SATER o fIC wrHT=Ia=IT o w1eeh a1
used as energy source for poultry ration? ST STt B o &9 7 TR ST 27
A. Rice A e
B. Wheat .
. B. g
C. Qil o
D. Maize C.
D. Ha&RT
172. The process of prevention of cream line 172, grer 3 HeTs (shi) o1 02 o S 2T Tisha
formation in milk is known as- FIT FEATT 27
A. Homogenization A, SERATESTE
B. Pasteurization
B. CIT%{B@BT—T
C. Diffusion
D. Clarification C. WS
D. FANhIRTH
173. India has been declared ----------- 173. e ATHESRE BR UHT g, U grT
infection(s) free country by World T T oo T % AT & Sshe0T 5°h
Organization for Animal Health, Paris o7 SN R T ) s
for cattle.
A. Rinderpest and contagious bovine A. e ST Tishreh il STt il —
pleuro-pneumonia [EEIERI)
B. Rinderpest B. fretre
C. Contagious Bovine pleuro- P GUINE SMMEE S
pneumonia ' S
D. None of the above D. & &l oft 7
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174.

175.

176.

177.

Although milk is almost an ideal food,
but it is low in-

A. Calcium
B. Phosphorus
C. Iron

D. Magnesium

Which of the following breed of goat is
good for meat production?

A. Jamunapari
B. Black Bengal
C. Angora
D. Beetal

Which types of teeth are absent in adult
cattle?

A. Lower incisor
B. Upper incisor
C. Lower incisor and canines
D. Upper incisor and canines

Calcium content in layer chicken ration
should be ----------- % as per BIS
(2007).

A 5
B. 3
C. 1
D. 0.5

174.

175.

176.

177.

=fT <t 7T S Bl 22

A. FHfcaem
B. ®EHRA
C. A

D. #fqREm

freforiaa o @ st Y i o Tea wiE
IcqTed o T 1= 82

.

& 1Y ST # fohdt TehTt o g SAqaiera
=1 &7

A. e as

B. IWIHds

C. frrett deh Tl ek

D. 9l shdsh Td T&eh

sft. 3TTE. T, (2007) % HTER AR Ferepd

I LR e | Dt T | % BT
=iy

A. 5

B. 3

C. 1

D. 0.5
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178.

179.

180.

181.

Minimum distance between two poultry
houses should be ----------- meters.

A 5
B. 10
C. 15
D. 25

As per 20" livestock census,
Government of India (2019) poultry
population in our country is ---------
millions.

A. 729
B. 512
C. 536
D. 851

Disqualification of dairy animals during
their judging should be done in case of -

. Permanent lameness

A
B. Blind udder quarters and teats
C. Both

D

. None

For judging of dairy cattle maximum
score is given to ----------- parameter.

A. Body confirmation
B. Udder

C. Body capacity

D

. Feet and forehead

178.

179.

180.

181.

SRl R R T R R L KA S——
et BT =fey

A. 5

B. 10

C. 15

D. 25

20 = U HIUMET, HRA SR (2019)
K RS N R T o) pe—
fiform 21

A. 729

B. 512

C. 536

D. 851

S 7T T IFATIAT I STa 3 SR --
---------- % TS 1 <t STHT =R

A. Tl ST

B. SHTEE o FTL Ug (et
C. 3

D. 15 off e

GUTE AT I TETH o foTe srferehan
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182, s breed of indigenous cattle is MRS o =) J— T <hT T SISt H et

used for improving milk production in ST T SR ETferd &% 2
Brazil. =
A. Tharparkar A
B. Sahiwal B. HRETA
C. Ongole C. 3T
D. Kosli D. Eet
183. Hallikar breed of cattle belongs to 183. geftert 7&t &l T TR TsT A 72
which state?
A. HERTS
A. Maharashtra
B. Chhattisgarh B. i
C. Uttar Pradesh C. ST
D. Karnataka D. #ich
184. The pH of fresh cow milk varies from- 184. i o qr! g8 1 Y. T, - L J— ED
A. 52-54 He BT 2
B. 56-58 A 52-54
C. 64-6.6 B. 56-58
D. 7.2-74 C. 64—6.6
D. 72-74
185. Father of white revolution in India is- 185. R W 4d shifd o S &-
A. Dr. M. S. Swaminathan A. 1.4, @'W
B. Norman Borloug B i ae
C. Verghese Kurien
D. Dr.V.S. Yadav c iﬁq
D. 1.4t ™. J1ed
186. Chemical name of milk sugar is- 186.  grer 7okt <hT TET ok AT -
A. Sucrose A, GRS
B. Fructose B wRIS
C. Adipose
D. Lactose c
D. &N
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187.

188.

189.

190.

191.

Bloody diarrhoea is common symptom
in which disease of chicken?

A. Coccidiosis

B. Fowl cholera
C. Fowl pox

D. Pullorum disease

Urea can be mixed in the concentrate
mixture of dairy animals at the rate of --
-------- percent.

About ---------- number slips are
required to plant one hectare of Napier
fodder.

A. 10000

B. 20000

C. 40000

D. 80000

The percentage of fat in double toned
milk should be-

A. 05

B. 15

C. 30

D. 45

In 2019, livestock census indigenous
cattle population increased by ------- %.
A. 25%

B. 15%
C. 10%
D. 5%

187.

188.

189.

190.

191.

Gt % AT o TR T shT AT T80T
27

A. Fiadifssnig

B. %I &l

C. %3 o=

D. Qe I

ST wl o s e o ZhE -
gfcrera st & | firetma ST Ehar 2

A 1

B.
C.
D.

~N L W

S 21 g4 H T T TTrwTa ST =T -

A. 05
B. 15
C. 30
D. 45

a9 2019 3T IRTOAT § SHT TR AT HEAT -
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192.

193.

194.

195.

Cow milk is yellowish in colour due to-
A. Amylase
B. Lecithin
C. Carotene
D

. Galactose

A pregnant cow essentially needs --------
---- kg of concentrate feed (fodder).

A. 2-3kg
B. 4-5kg
C. 1-2kg
D. 5-6kg

In respiratory system, oxygen and
carbon di-oxide is exchanged at --------- :

A. Alveoli
B. Trachea
C. Nose
D

. None of above

---------- hormone is responsible for
milk letdown.

A. Vasopressin
B. Oxytocin
C. Progesterone
D

. Oestrogen

192.

194.

195.

TR o g o Wiet 0T 81 3l 0T 2T &-

A, THTEAS
B. wHlefa
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196. In which year was Operation Flood 196. 9RA H SHTRIM FAS e & FHT AT
launched in India?

A. 1970
A. 1970
B. 1975
B. 1975
C. 1980
C. 1980
D. 1985
D. 1985
197. Bile is produced by------------- . 197. fO=T BT SCUTEH —--mmmmmemv T grar 2|
A. Kidney A TS
B. Liver B. 7%
C. Lungs
C. B%g
D. Pancreas
D. dfsrrsr
198. In milk production India ranks ----------- 198. vy geqre | forg H WA - T W2
-- in world.
A. IIH
A. First
B. Second B.
C. Third C. qd™
D. Fifth D. de@r
199. Tail to tail system of housing is 199. afreme 1 4B | UD UITEAT TH AR R ek
commonly used in housing of- ST & 3T Y ST 27
A. Goat A ;
B. Sheep
B. ¥g
C. Cattle
D. Pigs C.
D. ¥t
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200. ----

-------- breed of sheep is used for

Pashmina production.

A

Changathangi

B. Nellore
C.
D. Marwari

Deccani

200, oo T T g TeHAT Seure % ferg
IUIH 2

he)
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1. 39 T qRaent § diT 9rT e -
0T ISE e i EET | 3fh
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o bk

20362-UAX-PRV-JUNAG-M2 56

Each question contains 01 marks. All question are compulsory.
Indicate your answers on the OMR Answer-Sheet provided.
No negative marking will be done.
Use of any type of calculator or log table and mobile phone is prohibited.
While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does
not get torn or spoiled due to folds or wrinkles.

49 Set A



